

Converting Fahrenheit to Celsius (J)

Estimate or convert the temperatures.

$-77^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$94^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$76^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-93^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$21^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$47^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$94^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$62^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-15^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$39^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-28^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$21^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-37^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$58^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$53^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-7^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-52^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$55^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-74^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$45^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-38^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$78^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$88^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-23^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-94^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$17^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$33^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-8^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-37^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$30^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$